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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.
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HTHTT (3397
() 39 YILYT HI @ Y, YT oF 7K YT &, H §ier T 8 | 379! Gl 9rn &
Yol & I for@d & |

i) @t o7 yHarf & |

(iti) @ IvEYT G B 397 § I 797 319 781 8 |

(iv) STTH YFT 3 IR YT T F T T & I GAG-JUF 9T P IR T
foras & 1

(v) YT H P I G 1 T3 F 97 Uh-Uk 3% & 3 | 399 3] Uk Jeg YT
THETFTH G |

(vi) YT 3 & Fo7 &I 4 & 6 F 97 FI-31 Bl B § | F9H IFW AT
30 551 § 37 &/

(vii) T 3 & J97 &I 7 @ 18 @ IoT AlA-dIT IH @ & | §9F I AT
50 551 4 37 8 /

(viii) YFT 37 & ¥97 T&IT 19 & 24 & ¥¥7 qia-gid 3# & & | 599 I T
70 1551 4 37 & /

(ix) YT § & 597 &1 25 & 33 & Y7 JAVIIcHS B9 R SATIRG Fglahed] Jo7
g | yrd% 97 Uk 3% HT 8 | 130 WY WK faheql § @ 3719 dacT Th T
ITTH [dHY AT & |

(x) YT T & Y97 G&I7 34 T 36 F Y97 JINIIcHF 9T T ITERT -3 3H] &
YT E | 57 IR GITT 4 21 8 |

General Instructions :

(i) The question paper comprises two sections, A and B. You are to attempt
both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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(vii) Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on
practical skills. These are to be answered in brief.

HOT A
SECTION A
1. = fou T g yeEicne T 1 AW fafe 1

(a) —-OH
(b) -C-

|

o
Write the name of each of the following functional groups :
(a) —-OH
by -C-

|

o

2. It gsa & I 9T 61 AW foafee S 999§ e w9 @ aftifaa 78 2 1

Name the parts of a bisexual flower that are not directly involved in
reproduction.

3. WM Wd % Ed & U e ®9 ¥ IerR A % Ty # 9@ W™
fafeT | 1

Write the full name of the group of compounds mainly responsible for the
depletion of ozone layer.

4. Tz HifT 6 75 w9 7 feAfenma | 2
Explain why the planets do not twinkle.

31/2/2 3 P.T.O.
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5. fTorelt o9 % o2 & | TH E YHR % &I I ITH H IqA 7 Tohd areit
THEATSTT 6T gt TSy, | 2
List two problems that may arise by planting trees of single variety over
vast tracts of a forest.

6. =S Sl % Fwiv & $o gwed o 97 Bl B | 39 dW qew gwensd i g=h
SHTIST 11 3¢9 Bl bl @ | 10 O Toreft T wHE &1 & gy | 2
Building of big dams gives rise to some problems. List three main
problems that may arise. Suggest a solution to any one of these problems.

7. HTeH ARl I AESTE G0t Bt a8 AW F fom w7 2 foRet wmedt goft
% <1 ShATTd HeEdl o (e g3 faRau qen 39 Aifieel & 37 9T 1 Seoi@
ShIfere St 3k (i) Wifaes qen (i) TEmfes et i fetfa o § | 3
Why is homologous series of carbon compounds so called ? Write the
chemical formula of two consecutive members of any homologous series
and state the part of these compounds that determines their (i) physical
and (ii) chemical properties.

8. TmfaRga Aiffeel % offtas ¥ ffaw R sThl Soag-farg EEATY

TR 3
i) T

(i) wdE=

(iii) — QATSA

Write the molecular formula of the following compounds and draw their
electron-dot structures :

(1) Ethane

(i1) Ethene

(iii) Ethyne

9. T % TR I THE Ie3F [T | Tl oh 30 AGRT TUIEH 1 AH
fofgu foeeht 3T oMyfe 3Ted dnvlt i foaehfad & | foham T 7 |
agfTeh Tad oW JaEy | gH 3Ted arefl & -8 Wi H 19 91qe,
39T 3R AU I T ? 3
Write the main aim of classifying elements. Name the basic property of
elements used in the development of Modern Periodic Table. State the
Modern Periodic Law. On which side (part) of the Modern Periodic Table
do you find metals, metalloids and non-metals ?
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10. ot a@ X @l 3Mygfieh oTad WO & dfER Ty S i\t ad § W@ M
7 | Fefafad s y97 1 wrv afgq s dfe 3

(a) v X ol Setagieh fommg ferfem |
(b) OE Y (WHV] HETH 17) & @Y ad X I Al g s A
qifieh 1 g3 foafem |

(c) 39 T o SAFETSS chl Uehid ST BN STeram & 2

An element X’ is placed in the 3™ group and 3™ period of the Modern
Periodic Table. Answer the following questions stating reason for your
answer in each case :

(a)  Write the electronic configuration of the element X’.

(b)  Write the formula of the compound formed when the element X’
reacts with another element Y’ of atomic number 17.

(e) Will the oxide of this element be acidic or basic ?

11. SLTA.U JdhiaE SH-fRAT 1 Toh STERah WFT F1 g ? Fifeh S i
T | <ifiTeh S o oY 1 8 ? 3
Why is DNA copying an essential part of the process of reproduction ?

What are the advantages of sexual reproduction over asexual
reproduction ?

12. Torelt Svaferft qou &t srqcet-shre o1 3@ Wiwe = feu @ wiT st iR

Hif 3
(i) AR
(i)  AVSRE
(iii) P
(iv)  afdet
Draw longitudinal section of a bisexual flower and label the following
parts on it :
1) Anther
(ii))  Ovary
(iii)  Stigma
(iv)  Style
31/2/2 5 P.T.O.
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13. T FT ] 2 °HAl H 3ok 1 shi SATEAT HINT | 3

What is placenta ? Explain its function in humans.

14. (a) 98 ymm dfve fed g freend faeperan @ fop wferi w1 foeere wrtget &
g R |
(b) I, 3NFIUH, TR 3R hIRfeRAl | oft 3 6 Tw=AT Bt 7 |
ST % YR W 3 Sl Sl Wifed foham ST Hehal g ? Fi A”YAT FI
&l ? 7Y IR T HRoT Afga gfee il | 3

(a) Cite the evidence on the basis of which it is concluded that birds
have evolved from reptiles.

(b)  Insects, Octopus, Planaria and Vertebrates also possess eyes. Can
these animals be grouped together on the basis of the eyes they
possess. Why or why not ? Give reason to justify your answer.

15.  “Ferelt JTer o T319] ST TR SAaT AIET T A HAN B |7 U YaTE 3TRE Tt
39 A 1 giE HINT | 3
“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.

16. I & 39ed o fam feafae | afe fata o g 6 = 3 x 108 m/s B, @
39 HTEAH R e ST9edATeh Fa shifow fored Tehter i = 1-4 x 108 m/s
2| 3

State the laws of refraction of light. If the speed of light in vacuum is
3 x 108 m/s, find the absolute refractive index of a medium in which light
travels with a speed of 1-4 x 108 m/s.

17. R0 ¢d §U ¥R I foh et o qoo @ forelt Seren o1 streerr e =81t et
BIAT 8 | SA=USE A= I H el 1 afsha s o forell srafer-ami
i feT & THT AR HAT Ydfld BT AMEY ? 39 T sl RO HAlgd giee
IS | 3

Explain giving reason why the sky appears blue to an observer from the
surface of the Earth. What should the appearance of the sky be during
the day for an astronaut staying in the international space station
orbiting the Earth ? State reason to justify your answer.

18. M 91 g ? I8 IigHved H foh® YW IR el adl & ? TE Hhifvw &6l I8
foreht TTftaa =l ford TepR Tfard Sttt 2 | 3

What is ozone ? How and where is it formed in the atmosphere ? Explain
how does it affect an ecosystem.
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19.

20.

31/2/2

s B TIdd YU gRT AHST hl SIATAT T TidieFa Jad U I HIshidd shidl

7 | itfefa S fou e ergEm R 5
SaTAT Sl TS = 15 cm
E&Wﬁ@?ﬁ@:ﬂcm
Wﬁ?&ﬂ@@:lScm

Ife ST Ul o &I A8 o ATEAd 8, A1 HEAIRad ol Tiehar shifolg

(a)  wiferst < 901 § gl

(b)  Wfcfens shl oTFaTg
Ffe Sarer 1 U0 H g 10 em G A, A1 96 T FAT fG@TE M 2 319 IW
1 gfy su uffeafa & fore fomor sm diwemt Fife |

A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 1-5 cm
Focal length of the mirror = 12 cm

Distance of flame from the mirror = 18 cm

If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :

(a)  Distance of the image from the mirror
(b)  Length of the image

If the distance between the mirror and the flame is reduced to 10 cm,
then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.

Torelt < <h1 &HaT @ T 99l & 2 3HeRl UH.ITE. (S.1.) "Ee T B ? T
TR o °iE i &HAT GHTCHe B! § ?

H1g o@ foret fora o1 arEdfaes, Ieer 3R TUM ATHR (AET) &1 Afdfars o9

Y 40 cm G T SATT & | ©® Sl Yepfd I &THAT w1 B ? U I h I
o fortor sm@ @i | 5
What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive.

The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.
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21. HH4g 97 &% F=fiRgd g v w1 s iR 5
(i) i
(i)  gRdriER
(iii) g«
(iv) e

Torerrasfier 23 & Ul safth e Fudar 4 difsa 2 | 38 T <l F9eH gl
o ShI=AT o TII & Sieh fohaT ST Fehdl 8 | AT foamel™ 39 929 & a1
H STl 399 i HN T & GG AN i A9gH o fIw 9@ &
3o U faene™ TR 3ues TSI | AN I W1 8 | A9 379k T&a1ddi
e fiete 39 qo o1 § fohg R A R Hehd & 2 formeril gRT 39 R
& AT & I & 32T fTaiau |

State the function of each of the following parts of the human eye :
(1) Cornea

(11) Iris

(iii)  Pupil

(iv) Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.

22. 3 Ak a9 9Tt 9T 3T HATSTRdT HIT H FAF I Hich YT
STRT BTH Hleh IchY 16 FOaGIHHh To=amd I d @ | HRO od gL T
ST foh req 379 Afeni o M0 # 39 YR o1 fom=rme 3@ fafa 9 == &
TS L Ghal | A ARl § &4 aTel 3Eg 3R hred AMEhT H a4
JMEY o TR & AW fAfew | %o dfzd I8 ot e Hive 6 we G
AHT=IG: T o Farcs w0 8id & | 5
Elements forming ionic compounds attain noble gas electronic
configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by

carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.

31/2/2 8
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23. (a) TUTU M@ # A, B, C 3R D &l 98ATHT 3R 3ok W feifau |

(b) YT foh8 Hhgd & ? SHhI Hewd THesy |
(c) godt ® fa=m <t ufshan wwemsT | g9 % 3W wm w1 A fofEge S

= & gvEmq
() oS A forfad g 2,
(i) % H fGwfyd g St g | 5

(a) Identify A, B, C and D in the given diagram and write their names.

(b)  What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

(1) seed,
(1)  fruit.
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24, d-3g9d FIT g ? SIIA-3¢HE H TEEH AR Hehi hl AT ST | $1 HIHI §
¥ HHE Wi TS % Wbl % Sfd-3ewd B Y@ %Rk & 8l
FehdT ? TIY HINT | 5
What is speciation ? List four factors that could lead to speciation. Which

of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.

K IRINC)
SECTION B

25. IqA A8 h Bid gl Fulfd wid @ 3w o grn el ge fam
yfdfera 9¢ 9 BIh{Hd S HT TIE Hd & | 96 W §4 el I8 Sfdfers,

o & e Shar g =Ry 2 1
(A) €l 3R 55d B
(B)  ®tem iR &l

(C) 3ol IR F1
(D) 3 IR §d Bl

While determining the focal length of a convex lens, you try to focus the

image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A) erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged

(D) inverted and highly diminished

26. Tl B 7 Iradd U G TATTRICT o g o o TEll Al shi saran
few wfifors 9 Wy fepan | fieres 3 quur 6t wrkd g 1 IR Al
fiehean o T FE & T @ @@ F yfeferm w1 9 W Bbfaa wE H
goma fean | 36 B &I F1 T AT 2 1
(A)  THU I 9E § G THMT =AM |
(B) YU & U hl T THMT =11 |
(C) TUur 3R U< gl sl T shl 3 THMT =T |
(D) had Ue i & g h 3T FERAT =T |
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217.

31/2/2

A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A)
(B)
(&)
(D)

Should move the mirror away from the screen.
Should move the mirror towards the screen.
Should move the mirror and screen both towards the sun.

Should move only the screen towards the sun.

i oh HTIATHR Toid | oA Tt Jhrel foRL0T 1 97 T{Rad & @ o =
ST T8 IR YRIAeh aedisli § ¥ gaus e diH-H 7 ? 1

D o

(A) (B) (©) (D)

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

N

(A) (B) (©) (D)

11 P.T.O.
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28. I fdu U 9R @i # & fohaw wia & 5w € e arelt Jehr R 1 uy
TE 1 Y A R ? 1

(A) (B)
©) (D)

In which of the following four diagrams is the correct path of a ray of
light passing through a glass prism shown ?

(A) (B)
C) (D)

31/2/2 12
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29. Torelt B & Wt o IS o YUT o Tl vmT 1 e S o faw et
TH YA o AT =07 1= feu e g 1

I HX % sl bl fagg o § Pt t Ta 7 o & i |
(ID  ofi <fis ot ST iR saeh fafie it =1 Jeqor Hifs |
(I U Ut fou & 5 wex & «iw Ay |

(1v) ifafes S =t fepa @ | i 1 i gdft w8 @ @ W T T
o foe T € oig i |

T TN T Gal hH
(A) L LIV, I
(B) LIV, 11
(C) ML LILIV

(b)y ILILIL IV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

(D Soak the pea seeds in plain water and keep them overnight.
(II) Cut open the soaked seed and observe its different parts.
(ITI) Take some pea seeds in a petri dish.

(IV) Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is
A IILIL IV, II
(B) IILIV,III
©) IOLLILIV
(b IHIOLILILIV
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30.

31.

31/2/2

forelt wem #, BE W fafm Sfal & owMe wd w@i % well %
Hieal/ATgSl/E1 1 JeauT HUAT T | JFU h qYE SEI A THSG G

o ffafaga a9g ST | 981 998 & g 1
(A)  ueft qen foaeh & @

(B) e 3R TS % T

(C) faaeht 3 =wmes & T

(D) T, Sa@ a9 feuskell % 37Te

In a class, students were asked to observe the models/slides/pictures of

the skeletons of forelimbs and wings of different organisms. After the

observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly
(B)  Wings of a pigeon and a bat
(C)  Wings of a butterfly and a bat

(D)  Forelimbs of a cow, a duck and a lizard

HI3 B UHICH A hl Th g I8l el fofend 99 W 3R R aa ferew™

U W STAd @ | 98 Ig J&Au HaT b 1

(A) A g o3 TENE 8 ST 8 IR A forenw v § g afgdq T8
Bl |

B) o T 3 it 81 I 2 3R Fren forenw 93 o 8 S @ |

(C) o forenm o # g ufadd T8 gar R o forena w3 o< 81 S
2|

(D) il foreng 93 ® i gfgd =81 giar 3 ara forema 93 fier |1 A
21

A student puts a drop of acetic acid first on a blue litmus paper and then
on a red litmus paper. He would observe that

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C)  there is no change in the red litmus paper and the blue litmus
paper turns red.

(D) there is no change in the blue litmus paper and the red litmus
paper turns blue.

14
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32. IR UTHATST T AR Hd THY BT gRT Al 6l T3 Fo fewfort
ﬁ%‘ﬁ”ﬁ%: 1
(1) e SR 3TEAl T 4 B |
) arfufsean fasor it et yfa 2 |
(1) 39 fufshan T o1 1 TGN BaT 2 |
aIV) a1 Affsran Serefientor stfirfsran i 2 |
T A Tl it e § 2
(A)  hadt IR III
(B) I, II3MW III

(C) 1L, III 3 IV
(D) had I3 II

While studying saponification reactions, the following comments were
noted down by the students :

D Soap is a salt of fatty acids.

(II)  The reaction mixture is basic in nature.

(III) In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.

Which of these are the correct comments ?
(A) TandIII only

(B) I, II and III

(C) I III and IV

(D) TIandIIonly

33. I3 B IR WEAlerdl I, IL, 111 3R IV 3, 9% § 4 mL 3Tgd Jo oisht 3
IR T G0 - gt 1 H NaCl, We&Helt 11 H CaCly, W&t 111 H MgCl,
3N WA IV H KC1 ! {9 O SietdT 8 | 38 9= 98 Yo Tg-el o
fqu T\ % 9 Hi 8 S et wEEet i wmft w10 IR e 7 |

ol TREHTeTa | YL ST &= 2 1
A I9Il
(B) II<alIIl
C) Ialv
(D) III91IV
31/2/2 15 P.T.O.
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A student takes 4 mL of distilled water in each of four test tubes I, II, III
and IV, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl, in II, MgCl, in IIT and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TandII
(B) IIandIII
(C) TIandIV

(D) IIIandIV

34. I3 B UTHIEH TFA F TUIUHT T AEIIT H @ 2 | 3Th g J&Au fohT I
et TEIfeh o1va & q1 wifaes qurgmi i g ST | 99 98 39 3 H Tk
Teoh! WfeTT BI3GIoH HIaTe AT 8 aa o1 Bia1 3 2 i g Jeqor e | 2

A student is studying the properties of acetic acid. List two physical

properties of acetic acid he observes. What happens when he adds a pinch

of sodium hydrogen carbonate to this acid ? Write any two observations.

35. i B 8-0 cm TR Tl 20 cm BIHE g % fohell 3T oW & q&I A& *
Svead, @Al @ | o 1 | @ gl 30 em W@ 98 < % gE IR UG W
forar =1 e wifers STod htar @ | 9q W AT Wit 3 wehla (I, e
foafiia, ster) wo grft 2 o1 S A1 g & fog forwor e difem | 2

A student places a 8-:0 cm tall object perpendicular to the principal axis of
a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray
diagram to justify your answer.

36. I3 BF A T THad gNI cifieh 1 o TOfYE =Xon il worl wse o
EeE g ¢ @1 & | 98 58 H Sl $© ¢@dl 8 3§ IRE@ Giawt (HHan)
ST | 2

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).
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